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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® Answer all questions.

® Answer the questions in the spaces provided

— there may be more space than you need.
® Calculators must not be used.

Information

® The total mark for this paper is 100

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® Questions labelled with an asterisk (¥) are ones where the quality of your
written communication will be assessed.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.

Turn over
ElzEE
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Work out  (2++/5)(2-+5)

Give your answer in its simplest form.

i~ BJE & A& —JBd5

~NeRL Ja-da =

E—

1
2. (a) Write down the value of 642

QT:’—\ L ”JE 5"\'_};— & J’G_ = B

(N’B : ﬁrf;_l-‘i Just MNans ‘(;r.,u ) _
(b) Write /45 in the form k+/5 , where £ is an integer.

= L5
N Jax b =z Ja x{%
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(Total 2 marks)



| 3. Find the value of

(i) 8°
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(Total 4 marks)



4. (a) Simplify  4xXx5y
(b) Simplify =~ XXXxXxX

(c) Expand 4(3n-7)

(d) Expand and simplify 2(2x+3)+3(x+1)

D0+ 6 + 32X+ 73

= P 5

(e) Simplify ,ixp

() Simplify  p*+ p? 1

Plg‘g): P

T SO, W C)Lm&n\
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ot
(1)
lan - d K
2)
o+ 9
()
on*
1)
P 1.
................................ "

(Total 8 marks)



5. (a) Simplify g¢° x ¢* al q :
P N W =

(b) Simplify 75+ 2

-
(1)
(c¢) Simplify 12n° + 615

LV

@
| @ simplify @2 9T (WDT (YD) 3

j | N n % Y |
vg: (a0 AN = 3wy’ 2D
(mmxn) @

N o
andl (C\m) -
(e) Fory > 1, write the following expressions in order of size.

Start with the expression with the least value.

L

IR e Nl T

| _l—‘"“j A SP"-"]ﬁf' instance of \:)>| SWeh s )
iy & 4 and then <ocb inb G\SCMOUO; ordac (Total 8 marks)

| ons Follows

P(‘D) F('—%),\-q- the value for F(‘ﬁ) When tj:'—k |

5‘1 = groTe (ng: at: o)
2 O = 1

g, =

3i/»;, ,_‘__/1 = 9

Y H' = (v @'z a )
Y w0
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6. (a) Simplify nwxn
(b) Simplify ¢ =¢°

(c) Simplify a*b x3ab*

7. (a) Expand and simplify J(a+4)+5Q2a+1)

Qa + 1A +10a + 5
= 1¥a + 137

(b) Simplify g% % g

(c) Simplify Oy

(d) Simplify ()

2(5")(3) - 2;1
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1)
L
.
(1)
3adb°
2)

(Total 4 marks)

1Ba + (F
2)
-
................................. =
\33
................................. =
2't
................................. o

(Total 5 marks)



8. (a) Simplify 5 x 12

8
(b) Simplify —
m

(c) Simplify (2y)°

3\3 33 5 8‘93

(d) Simplify 3a*h x 4a’h*
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\/‘8
m‘S
LBy
(2)
IQ\O:?- 'h‘S
2

(Total 6 marks)
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